Y5 Maths Home Learning Week Commencing 8th June 2020
[image: ]This week we will be revising our previous knowledge and understanding on conversion of units working with different units of measurement.
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2) If there are 1000 mm in 1 metre
There are 100 mm in 10cm
So convert how many millimetres (mm) in
 1 cm?	_______________________
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° Eva and Amir are measuring the length of a paper lip.

I'm going to measure
it in millimetres.

I'm going to measure
it in centimetres.

b) Amir has measured the length of the paper clip as 0.8 cm.

@) Whose unit of measure is more appropriate?

Explain your answer.

What answer will Eva get in millimetres? mm

0 The table shows the heights of four sunflowers.

[sunflower | A B c D
| Height | o086m 91 cm 640 mm 72.cm

Put the sunflowers in order, starting with the shortest.
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o The depth of a plank is 15 mm.

12 of the planks are stacked on top of
each other.

What is the depth of the stack of planks?

Give your answer in centimetres.

m

© oexteris 146 am tall
Annie is 0.27 m shorter than Dexter.
How tall is Annie?

Give your answer in metres.
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@ The thickness of a 20p coin is 2 mm.
Tommy stacks £4 worth of 20p coins on top of each other.
How tall is the stack of coins?

Give your answer in centimetres.

m
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a)

b)

bl

The bar model shows that 1 m is equal to 1,000 mm. tm
) 1,000 mm
Use the bar models to complete the conversions.
1m m m
6m= mm
3ms= mm
1,000 mm | 1,000 mm | 1,000 mm

m = 5,000 mm




image10.png
e Fill in the missing values to convert between metres and millimetres.

a6
|

128
|

100

1,000

-

4,000
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Use the information to complete the P —
representations and conversions. il
a) 1 5 b) 1 6.7
I I
ml ml
1,000 1,000

51= ml 6.71= ml
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d)

ml

11 11 11 11
1,000 ml

1l
1,000 ml 1,000 ml 1,000 ml 500 ml

3,500 ml




image13.png
Complete the conversions.

a) 15m= mm e) 11.05m= mm
b) 151= ml f) ml=71.251
) 63,000 ml = a) mm=0.1m
d) 47,500 mm = h) 1001= ml
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Eva wants to go on a ride at
a theme park.

)

Minimum height

Iam 1,010 mm tall ‘ 1m

Can Eva go on the ride?

Explain your answer.
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Write <, > or = to compare the measurements.

u) kmOGODm

b) = I+|00m|© 1,000 ml

< 0.8km- 300m© —km
d)%l+200ml+%ml© PRl

A piece of string is 2.76 m long.
How many 30 mm pieces can be cut from the string?

pieces
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Orange juice is sold in bottles and cartons.

@) Which is better value, the carton

or the bottle?

Explain your answer.

b) Dexter buys 12 cartons and 5 bottles of juice.
He pours them into glasses with 200 ml of juice in each glass.
He sells each glass of juice for 40p.
He sells all the glasses of juice.

How much profit does he make?
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©  The bor model shows that 1 kg is equal to 1,000 9. [ 1k |

Use the bar models to complete the conversions.

a)

b)

1kg

1kg

1kg

1,000 g

3kg= g

Sko= g
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Dexter and Whitney are converting 27.5 kg into grams.

T'm going to use bar
models.

I'm going to use a
double number line.

@) Whose method is more efficient?

Explain your answer.

b) Complete the conversion. 27.5kg = 9
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Tommy and Dora are converting 4 km into metres.

Here are their workings.

Tommy
Tkm | Tkm | 1km | 1km
1,000m | 1,000m | 1,000m | 1,000m | 4 km = 4,000 m

Dora /ﬂ*\&
1 4
km
m
1,000 4,000
73 4 km = 4,000 m

Whose method do you prefer?

Explain your answer.
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Complete the conversions.

o J ko= g
1 kg=
7 ko= ]
3 1=
7 ko= 9
1 km =

b) 55 km=

=
3
[

Blw vi=
=
3
i

d)
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Write <, > or = to compare the measurements.

@) 05km O 600 m
b) 3.7kg O 32009
) 5000g+2kg Q 55kg + 1,500 g
7 3
d) 5 km + - km + 965 m Q 817 m+ 1km
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A bag of apples weighs 600 g.

How much do 8 bags of apples weigh?
Give your answer in kilograms. 509

kg

Ron buys 3.8 kg of potatoes
and 1,250 g of carrots.

He pays with a £20 note.

26p
How much change does he get? per 1009
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@ poraruns 200 min 32 seconds.

If she runs at the same speed, how long will it take her to run 5 km?

Is Dora likely to be able to keep up this speed?




image1.png
@ Howlong i each ine? —
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o Dexter is converting units of measure.

If I know how many millimetres are
in 1 cm, and how many centimetres
are in 1 m, then I can work out how
many millimetres are in 1 m.

Complete Dexter's workings to show that he is correct.

What other conversions could you work out using Dexter's method?
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o Complete the conversions.

a) 15¢cm = mm o) m=02m
b) 12m= cm f) 465m= m
o 165m= m g) 52,000 mm = m
d) mm = 165 cm h) 52,000 mm = m





image5.png
° Mo and Rosie are measuring the length of the playground.

@) Whose unit of measure is more appropriate?

T'm going to measure
it in metres.

T'm going to measure
it in centimetres.

Explain your answer.

b) Rosie has measured the length of the playground as 563 cm.

What answer will Mo get in metres?





